

# Garage (Residential) in Qrendi



**Qrendi, South**



**€67,000**

Reference No: 240461048-752

 Total Rooms: **0**

 Floor Area (m<sup>2</sup>) : **16**

 Bathrooms: **0**

 Bedrooms: **0**

# Garage (Residential) - For Sale - Qrendi

Qrendi - Garages - A selection of garages located beneath the block, offering a choice of one-, two-, or three-car options, providing secure and convenient parking. Completion is expected by December 2027. For more information, kindly contact your preferred agent.

## Features

## Rooms

- ✓ Garage : 10.43 x 3.13 m (32.65 m<sup>2</sup>)
- ✓ Garage : 10.43 x 3.96 m (41.3 m<sup>2</sup>)
- ✓ Garage : 13.27 x 3.48 m (46.18 m<sup>2</sup>)
- ✓ Garage : 15.17 x 3.48 m (52.79 m<sup>2</sup>)
- ✓ Garage : 5.49 x 3 m (16.47 m<sup>2</sup>)

# Gallery





**Josianne Camilleri**

RE/MAX Professionals - Mosta

M: 79050767

E: [jcamilleri@remax.com.mt](mailto:jcamilleri@remax.com.mt)

T: 27998977

**RE/MAX Professionals - Mosta**

24, Vjal L-Indipendenza, Mosta, Malta